NOTE:  In EVERY heading, replace the word Value with the specific factor value.

Factor:_______________________________________________

	(-) Values:
	(+) Values:

	
	

	
	

	
	

	
	

	Average:
	Average:


Draw a line connecting the average for________-  and the average for ________+. Draw an arrow showing the effect of ________.  
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On average, as _________________ increases, ___________________ (increases/decreases) by ______________________________.
Factor:_______________________________________________

	(-) Values:
	( +) Values:

	
	

	
	

	
	

	
	

	Average:
	Average:


Draw a line connecting the average for________-  and the average for ________+. Draw an arrow showing the effect of ________.
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On average, as _________________ increases, ___________________ (increases/decreases) by ______________________________.

Factor:_______________________________________________

	(-) Values:
	(+) Values:

	
	

	
	

	
	

	
	

	Average:
	Average:


Draw a line connecting the average for________-  and the average for ________+. Draw an arrow showing the effect of ________.
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On average, as _________________ increases, ___________________ (increases/decreases) by ______________________________.

Two-Factor Interactions:
NOTE:  In EVERY heading, replace the word Variable with the specific factor and factor value.

Interaction Of  __________________________ And ___________________________




(two segments)



(horizontal axis)

	

	
	(-) Variable
	(+) Variable

	Solid Segment (Variable)
	(+)
	Average: 
	Average: 

	Dotted Segment (Variable)
	(-)
	Average: 
	Average: 
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Calculate the interaction effect of _______, _______ with the formula:   slope ______+ minus slope _______ -.  

Comment on what the graph implies about the possible interaction:
Interaction Of  __________________________ And ____________________________




(two segments)



(horizontal axis)

	

	
	(-) Variable
	(+) Variable

	Solid Segment (Variable)
	(+)
	Average: 
	Average: 

	Dotted Segment (Variable)
	(-)
	Average: 
	Average: 
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Calculate the interaction effect of _______, _______ with the formula:   slope ______+ minus slope _______ -.  

Comment on what the graph implies about the possible interaction:

Interaction Of  __________________________ And ____________________________




(two segments)



(horizontal axis)

	

	
	(-)Variable
	(+) Variable

	Solid Segment (Variable)
	(+)
	Average: 
	Average: 

	Dotted  Segment (Variable)
	(-)
	Average: 
	Average: 
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Calculate the interaction effect of _______, _______ with the formula:   slope ______+ minus slope _______ -.  

Comment on what the graph implies about the possible interaction:

Grand Average of all trials (except standards):_________________

Overall Effects of Single Factors:
Effect of _________________=



Effect of _________________=

Effect of _________________=


Interactions Between Factors:
Effects of:

________ and ________=

________ and ________=




________ and ________=









Prediction Equation:

Y =

(use grand average, all 6 effects above, and “noise”)
The standards should not show any patterns over time.  Graph the standards in the order in which they occurred and comment on any pattern or lack thereof.

     
________________________________




Time
Dot Plot:  Plot all 6 effects on a number line.
Test of Significance:
It may not obvious what effects are considered to be the “vital few.”  Several tests may be conducted.  One of these tests is to divide the effect by the range of the standards.  If the absolute value of this quotient is greater than or equal to 2, then the effect should be considered “one of the vital few.” 

Use the following guidelines in identifying the “vital few.”  
1.
Put in all effects that clearly stand out from the crowd.

2.
Generally speaking, if a main effect is borderline, put it in.

3.
If a two-factor interaction is borderline, put it in if both of its constituents are in, otherwise, leave it out.

Parsimonious Prediction Equation:  (Include only the vital few as decided above.)





Y =

Interpretation:
State what was learned by running this experiment.  Be sure to look at the variability in the standard trials.  If the range is obviously large, the results that were recorded may be due merely to chance and not due to the changing of the levels of the factors.  Look for other variables that may have affected the results.  If you were to run this experiment again, what might you do differently.

